EEE UNIVERSITY OF
%% CAMBRIDGE

ASIAN AND MIDDLE EASTERN STUDIES TRIPOS Part IA

Middle Eastern Studies

Wednesday 3 June 2009 09.00 - 12.00

MES.5 HEBREW LANGUAGE B
Candidates should answer all questions.

Mark the answers to Question 1 on the second copy of the question paper that
is provided and tie it to your answer booklet.

Write your number not your name on the cover sheet of each Answer Book.

STATIONERY REQUIREMENTS SPECIAL REQUIREMENTS

20 Page Answer Book x 1 Second copy of the question

Rough Work Pad paper, which should be tied to the
Answer Book at the end of the
exam.

You may not start to read the questions
printed on the subsequent pages of this
question paper until instructed that you may
do so by the Invigilator.




2 AETO0/ MES.5

1
(a) Add the correct form of numbers indicated in brackets in the following sentences
on the extra copy of the paper provided [5 marks]:
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(b) From the list of conjunction words given below the line of each sentence, select
the most suitable for each space indicated in the passage, and add them on the extra
copy of the paper provided [5 marks]:

Ratuilakiph m7ab T R .1
womt | WwRD

o nhy AN 7723 NYDwH W7 o0 2
S AR by L own

%]

PR 9% WO DRI Qw7202 NRENI T0wH:T .
Sy g7 L, W R

J9W DMK DM JUnw oamx ovhRoween 4
R OTPRT LW D YV AR

Rt rebtalrliatdisintal e}
P ARt MRY 99




AETO0/ MES.5

|95

(c) From the verbs given in brackets, select a suitable form in the future tense for each
space indicated in the passage, and write it in the space indicated on the extra copy of
the paper provided [5 marks]:
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(d) Write the correct form of each adjective given below the lines of the passage and
insert it in the extra copy provided [5 marks]:
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(e) Select the appropriate preposition from the list at the end of each sentence, and
insert your answer on the extra paper provided [5 marks]:
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2
Translate the following unseen passage into English [15 marks]:
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Translate the following two seen passages into English and comment where indicated.
(a)
:0"™aD-1211 HTIN IR
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IRDIDT 119N HW TRONN 0N TRRT TAR HaW TV 8OR 15K STawn — 12 Ton
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[6 marks]

Shalom Yacov Abramovitch, Masa ‘ot Binyamin HaShlishi, Kol Kitvey Mendele
Mokher Sefarim, 1929, p. 57

Discuss Mendele’s literary style [9 marks].
(b)
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[6 marks]

Chaim Nachman Bialik, HaBrekhah, Kol Kitvey Hayim Nahman Bialik, 1971, pp. 100-
101

Discuss Bialik’s concept of poetry [9 marks]

END OF PAPER



